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1) Given below is, P, the transition matrix for a Markov process with two states (states 1 and 2)
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a) (15 prs.) Fill in the blanks below, so that the diagram given below is the transition diagram that corresponds
to the transition matrix given above.

b) (15 Prs.) Find the probability that the system will be in state two after 2 transitions, if it starts out in

state 1.
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c) (15 PTs.) Find a stable vector w = (w),ws) for the transition matrix P.
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Answer: w = ( ’/5 4/5, )
d) (s PTs.) Find a stable vector, w = (wy, ws), for P2

Y wh=w, Do, Pt = w(PP)= (PP wh=w.
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